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el s 7 100m B 2295(5)  15.22(+1.0)| B F BHK(5)  15.26(+1.0)|f=8F ¥43(5)  15.57(+1.0) |46 mH2(5)  15.73(+1.0)|£Hk Be7w(5)  15.89(+1.0) |1 |- HLHE()  15.93(+1.0)|iP £84(5)  16.46(+1.0)
PHY2=T [FZE AN PHY2=7 PHY =7 PHY2=7 FaHR/IN FHY2=T
AGH e LT 100m AL ESE6)  14.49(+1.6) [ A% HAETH(6) 14.83(+1.6)| KHF E2E(6)  15.63(+1.6)| KTF #j1-(6) 15.81(+1.6)[HiB A /y4t(6) 16.16(+1.6)|/i%E Mlift(6) 16.48(+1.6)| KE #YHE(6) 16.81(+1.6)
WHY2=7 HY2=7 WHY2=T P/ L= A= FETR/ N
LAGH /£ F1000m TEA FEE(6) 3:17.15|ZR M HifEZ(4) 3:24.73| Wi 0 F(6) 3:27.49|¥EH: T=2(6) 3:32.30 | il I 13 45(6) 3:32.34 )11 F(6) 3:37.25(52)11 FYEE(4) 3:38. 77|45 K 1#(4) 3:39.83
FEEL /N HERC WHY2=T FE/N PHY2=7 FE /N PFHY 2= FHY 2=7
Y 2=TA 57.50 | R EE/NA 1:00.89 | F5 0 /1NB 1:02.83| L H/1B 1:04.68| L Y¥B/MA 1:07.04
[IEZS=16) - BEEG) ZH 0@ B 7 T91E6) FAR HE£4(6)
11A6A /NFE2F4X100mR | A% 45 T5(6) AT BHKG) KA FEE(6) VY B AEE6) BB B456)
KH #E2E6) TF 55 FEHE(6) MR BEE(6) HipER HEH ) fid] ¥ 75(6)
AR KE(6) KB #i1(6) EIE:(G) G L) HE OEV(6)
At /PR S SR (C)  |RE (%) [Em JE (m/s)
2022/11/06  [09:00 | 15. 6 43.0 i) 0.0
10:00  |i§ 15.0 46.0 TR 0.3
11:00 | 15. 1 43.0 b ) 0.0
12:00 1§ 15.7 44,0 TR 1.8
13:00 | 16.2 38.0 i 0.5
14:00 W% 16.0 39.0 B3 1.7
15:00 |m§ 15.8 38.0 TR 1.1
15:20  |W§ 15.5 39.0 K 0.0




